Vocabulary Ninja
SATs Arithmetic 4

Date

First Name

Middle Name

Last Name

Date of Birth

Total Marks:
/40
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40 + 1,000 =

1

2 505 + 1,616 =
4 3

3 — 4 — =
6

1 mark
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a4 303+1=
5 375 -80 =
6 3.7 +2.025 =

1 mark
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= 3,200 + 900

7
8 5x33=
9 81+9=

1 mark
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10 154x8=

1 mark

11 4,321 -801 =
12 o2 _ 26 _
100 100

1 mark
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13 - 200 = 1,027
14 27+(4x12) =

2 4
18 3°5°

1 mark
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16 40x60 =

1 mark

17 238-=+7 =

1 mark

18 0.06 +10 =

1 mark
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19 /723 x 1000 =

1 mark
20 8-2.23
1 mark
21 1 7 1 4 9 6
Show
your
method
2 mark
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22 [/ -1.45=

1 mark
23
2 1 0 4
X 1 6
Show
your
method
2 mark
22 20% x 300 =
1 mark
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25 95% of 2,050 =

1 mark
26
5 5 5
X 2 4
Show
your
method
2 mark
&7 16.5-11.925 =
1 mark
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OO|>—A

28 -
1 marks
7
29 g = 5 =
1 mark
30 8% of 8000 =
1 mark
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2 1
31 39
1 mark
P
3 5 1 4 4 8 8
Show
your
method
2 marks
5
33 2710 + 3
1 mark
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3 0.4x300-=

1 mark

35 11/2X54=

1 mark

1 mark
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Arithmetic 4 Answers

1040 5.77
2121 88
7 | 5.55
—orl —
6 6
303 33664
295 60
5.725 1947.5
4100 15,984
165 4.575
9 7
8
1232 7
40
520 640
13 , 5
— or equivalent —
50 9
1227 88
75 !
23
i 120
15
240 81
4
34 I or equivalent
0.006
723,000
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